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Q. P Code- 24915
(3 Hours) Max Marks 80
Note: :
1. Question 1 is Compulsory
2. Solve any three from remaining five
3. Figures to right indicate full marks
4. Assume suitable data if necessary
Question v' po e M?x.

Q.1 Explain any four of the following; P gt e 7 T i 20

(a) Viewing transformation. S S
y is the rapid prototyping used" R S O
Benefits of CIM AR s JesP B
What is the need for concatenatlon -of transformatxon’? e
/ ) Machining Centers and: 1tsf : S AP 2
(f) Parameter optlmlzatton R

Q.2 a) Determine the p'arametfic'v;'reor‘eéentatioivl'o‘f "'thle line ‘segment between the 10
position vectors: P, [1 1] and Pz [4 5] Fmd the slope and tangent vectors for
the line. :
b) Explam Selectlve Laser Smtenng (SLS) How is 1t dlfferent from 3D printing? 10

Q3 a) Explam 51gn1ﬁcance o_, (L) Bata capture techmques and (ii) Socio-techno- 10
 economic aspect$with respeot to Computer Integrated Manufacturing (CIM)
.~ and technology driven practlces : _‘
2 b)- A Square Wlth an edge length of10 umts 1s located on the origin with one of 10
i the. edges at an angle oft 30° with the:X-axis. Calculate the new position of
i ‘the square 1f it is rotate'\f_?,_ bout the Z- axis by an angle of 30° in the clock wise
% ‘C:tfj‘,* . fdn'ectton Gl T

: Q‘.4:‘ a) What are the different types of errors which may get introduced while 6
C AT convert’mg the CAD sohd model into RPT compatible format?
b) What are the major. steps to solve the problem using FEM? Whether it gives 6
b exact answer? Why it has become popular?
Q) “The coordmates of four data points Po, Py, P; and P; are 2,2,0),(2,3,0).(3,3.0) 8
% . -and (3,2,0) respectlvely Find the equation of Bezier curve and determine the
N coordmates of points on the curve for u =0, 0.25, 0.5 and 0.75.
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